

$$\Lambda \cos u - \tan^2 u \rightarrow \Lambda \cos u + \tan^2 u \rightarrow \Lambda \cos u + \frac{1}{\cos^2 u}$$

$$1 + \tan^2 u = \frac{\sin^2 u}{\cos^2 u} + \frac{1}{\cos^2 u}$$

$$\frac{\cos^2 u + 1}{\cos^2 u} \rightarrow \frac{1}{\cos^2 u} \rightarrow \frac{1}{\cos^2 u} \rightarrow \frac{1}{\cos^2 u}$$

$$\omega \sin^2 u + \gamma \cos^2 u \rightarrow \Lambda \cos^2 u - \omega \cos^2 u - \gamma \cos^2 u + \gamma$$

$$1 \cdot \cos^2 u + \gamma \cos^2 u - \gamma \cos^2 u$$

$$X \leftarrow 0 \text{ for } \frac{1}{\cos^2 u} \rightarrow \frac{1}{\cos^2 u}$$

$$X \leftarrow \frac{\pi}{4}$$

$$X \leftarrow \frac{\pi}{4}$$

$$X \leftarrow \frac{\pi}{4}$$

$$\gamma \sin u \cos^2 u + \sin^2 u \rightarrow \sin^2 u \rightarrow \sin^2 u \rightarrow \sin^2 u \rightarrow \sin^2 u$$

$$\gamma \sin^2 u + \sin^2 u \rightarrow \sin^2 u \rightarrow \sin^2 u \rightarrow \sin^2 u \rightarrow \sin^2 u$$

$$\frac{\pi}{4} \cdot \frac{\omega \pi}{4} + \frac{\pi}{4} \cdot \frac{\omega \pi}{4} \rightarrow \frac{\omega \pi}{4} \rightarrow \frac{\omega \pi}{4}$$

$$X \leftarrow \frac{\pi}{4}$$

$$X \leftarrow \frac{\pi}{4}$$

$$X \leftarrow \frac{\pi}{4}$$

$$\frac{1}{\sin(\frac{\pi}{4} + \frac{\pi}{4})} + \frac{1}{\cos(\frac{\pi}{4} + \frac{\pi}{4})} \rightarrow \frac{1}{\cos^2 u} + \frac{1}{\sin^2 u} \rightarrow \frac{1}{\cos^2 u} + \frac{1}{\sin^2 u}$$

$$\sin(\frac{\pi}{4} + \frac{\pi}{4}) + \sin(\frac{\pi}{4} + \frac{\pi}{4}) \rightarrow \sin^2 u \rightarrow \sin^2 u \rightarrow \sin^2 u \rightarrow \sin^2 u$$

$$\cos(\frac{\pi}{4} + \frac{\pi}{4}) + \cos(\frac{\pi}{4} + \frac{\pi}{4}) \rightarrow \cos^2 u \rightarrow \cos^2 u \rightarrow \cos^2 u \rightarrow \cos^2 u$$

$$\frac{1}{\cos^2 u} + \frac{1}{\sin^2 u} \rightarrow \frac{1}{\cos^2 u} + \frac{1}{\sin^2 u} \rightarrow \frac{1}{\cos^2 u} + \frac{1}{\sin^2 u}$$

$$\cos u - \sin u \rightarrow (\cos u - \sin u) \rightarrow \sqrt{2} \sin(\frac{\pi}{4} - u) \rightarrow \sqrt{2} \sin(\frac{\pi}{4} - u) \rightarrow \sqrt{2} \sin(\frac{\pi}{4} - u)$$

$$\cos u + \sin u \rightarrow (\cos u + \sin u) \rightarrow \sqrt{2} \sin(\frac{\pi}{4} + u) \rightarrow \sqrt{2} \sin(\frac{\pi}{4} + u) \rightarrow \sqrt{2} \sin(\frac{\pi}{4} + u)$$

$$\frac{1}{\cos u} + \frac{1}{\sin u} \rightarrow \frac{1}{\cos u} + \frac{1}{\sin u} \rightarrow \frac{1}{\cos u} + \frac{1}{\sin u}$$

$$\frac{1}{\cos u} + \frac{1}{\sin u} \rightarrow \frac{1}{\cos u} + \frac{1}{\sin u} \rightarrow \frac{1}{\cos u} + \frac{1}{\sin u}$$

$$\sin\left(u - \frac{\pi}{r}\right) \cos\left(\frac{\pi}{r} - u\right) = 1 \rightarrow \cos^2\left(\frac{\pi}{r} - u\right) = 1$$

(for $\cos^2$)

$$\cos\left(u - \frac{\pi}{r}\right) = \pm 1 \rightarrow u - \frac{\pi}{r} = k\pi \rightarrow u = k\pi + \frac{\pi}{r} \rightarrow \left\{ \frac{\pi}{r}, \frac{\pi}{r} \right\}$$

... for

$$\sin u \cos \frac{\pi}{r} + \cos u \sin \frac{\pi}{r} = \frac{r}{r} \rightarrow \sin u \cos \frac{\pi}{r} + \sin \frac{\pi}{r} \cos u = \sin \frac{\pi}{r}$$

$$\sin\left(x - \frac{\pi}{r}\right) = \sin\left(\frac{\pi}{r}\right) \rightarrow \begin{cases} u - \frac{\pi}{r} = k\pi + \frac{\pi}{r} \rightarrow u = k\pi + \frac{\pi}{r} + \frac{\pi}{r} = \frac{2\pi}{r} + k\pi \\ u - \frac{\pi}{r} = k\pi - \frac{\pi}{r} \rightarrow u = k\pi - \frac{\pi}{r} + \frac{\pi}{r} = k\pi \end{cases}$$

$\frac{2\pi}{r} = \frac{r}{r} \in \mathbb{Q}$

$$\pm \sin\left(\frac{\pi}{r} - u\right) = 1 \rightarrow -\pm \sin u \cos u = 1 \rightarrow -\pm \sin u = 1$$

$\sin u = -\frac{1}{r}$

$$\sin u = -\frac{1}{r} \rightarrow \begin{cases} u = k\pi - \frac{\pi}{r} \rightarrow u = k\pi - \frac{\pi}{r} \\ u = k\pi + \frac{\pi}{r} \rightarrow u = k\pi + \frac{\pi}{r} \end{cases}$$

$$\begin{aligned} u &= \frac{11\pi}{14}, \frac{r\pi}{14} \\ u &= \frac{5\pi}{14}, \frac{14\pi}{14} \end{aligned} \rightarrow \frac{11\pi}{14}, \frac{r\pi}{14}, \frac{5\pi}{14}, \frac{14\pi}{14} = \text{OK}$$

$$\frac{(1 + \cos \alpha)(1 + \cos \alpha)(1 + \cos \alpha)}{r \cos \alpha} = \frac{1}{r} \rightarrow \frac{1}{\sin \alpha} \left(\frac{r}{\sin \alpha} \cos \alpha \cos \alpha \cos \alpha \right) = \frac{1}{r}$$

$\frac{1}{\sin \alpha} \cos \alpha = \cot \alpha$

$$\frac{1}{\sin \alpha} = \frac{1}{r} \times \sin^3 \alpha \rightarrow \sin^2 \alpha = \frac{1}{r} \rightarrow \sin \alpha = \frac{1}{\sqrt{r}}$$

$\alpha = \arcsin\left(\frac{1}{\sqrt{r}}\right)$

$$\tan u = \frac{1}{\tan u} \Rightarrow \cot u \Rightarrow \tan\left(\frac{\pi}{2} - u\right)$$

$$\Rightarrow \tan u \tan\left(\frac{\pi}{2} - u\right)$$

$$u = k\pi + \frac{\pi}{r} - \frac{\pi}{r} \rightarrow u = k\pi \rightarrow \frac{\pi}{r} = \frac{r}{r} = \frac{1}{r} \Rightarrow \left(\frac{r}{r}\right)$$